OPUOESCHGER

DEWALT DWE 6423

Artikel Nr. Beschreibung Menge
Article No Désignation Quantité

1 N431207 ANKER 230V INDUIT 230V INDUIT 230V 1
2 N431209 FELD 230V CHAMP 230V CHAMP 230V 1
3 N396699 LUFTER VENTILATEUR VENTILATEUR 1
4 N395442 EXZENTER EXCENTRIQUE EXCENTRIQUE 1
5 N329082 GETR.GEH. ZSB S/ENS BOITE S/ENS BOITE 1
6 N399756 FLIEHGEWICHT CONTREPOIDS CONTREPOIDS 1
7 N345099 UNTERLEGSCHEIBE RONDELLE RONDELLE 1
8 98012-11 SCHRAUBE VIS VIS 1
9 N329083 ENDKAPPE END CAP END CAP 1
10 N394563 GEHAEUSEPAAR CARCASSE (PAIRE) CARCASSE (PAIRE) 1
11 330019-12 SCHRAUBE VIS VIS 14
12 N377182 FESTSTELLRING JONC D'ARRET JONC D'ARRET 1
13 N371139 RAND JUPE JUPE 1
14 N430442 RIEMEN COURROIE COURROIE 1
15 N430441 ANTRIEBSRAD POULIE POULIE 1
16 N403401 SCHRAUBE #9 LH VIS #9 LH VIS #9 LH 1
17 N329079 PLATTE ZSB S/ENS PATIN S/ENS PATIN 1
20 329301-00 KABELKLEMME SERRE CABLE SERRE CABLE 1
21 330019-02 SCHRAUBE M3.5X13T15 VIS M3.5X13 T15 VIS M3.5X13 T15 2
22 N372304 KONDENSATOR ZSB S/E CONDENSATEUR S/E CONDENSATEUR 1
23 N416499 ANSCHLUSSBLOCK BORNIER BORNIER 1
24 N360900 STEUERMODUL ZSB 230V S/E MODULE COMMANDE 230V S/E MODULE COMMANDE 230V 1
25 N372301 KOHLE + HALTER 230V BALAI&SUPPORT 230V BALAI&SUPPORT 230V 1
26 656494-00 SCHALTER Inc item 15 INTERRUPTEUR Inc item 15 INTERRUPTEUR Inc item 15 1
27 N345859 GEHAEUSEOBERTEIL DESSUS DE CARCASSE DESSUS DE CARCASSE 1
29 N397366 SCHILD PERFORM AND PROTECT ETIQUETTE PERFORM AND PROTECT ETIQUETTE PERFORM AND PROTECT 1

18.09.2017 1



OPUOESCHGER

DEWALT DWE 6423

30 N409457  AUFKLEBER QS PLAQUE SIGNALETI QS PLAQUE SIGNALETI QS 1
40 N409399  KABELSATZ (EURO) CORDON (EURO) CORDON (EURO) 1
41 445964-00 ANSCHLUSSKLEMME BORNE BORNE 1
43 N542553  KABELTUELLE PASSE CABLE PASSE CABLE 1
43 N542553  KABELTUELLE PASSE CABLE PASSE CABLE 1
51 N396634  TRAEGER EMBASE EMBASE 1
52 605040-25 LAGER,KUGEL 15x32x9 6002 PALIER, BILLE 15x32x9 6002 PALIER, BILLE 15x32x9 6002 1
53 N388153  LAGERHALTER MOD-BM PALIER RETENUE PALIER RETENUE 1
54 330019-02 SCHRAUBE M3.5X13 T15 VIS M3.5X13 T15 VIS M3.5X13 T15 2
56 330019-08 SCHRAUBE VIS VIS 2
60 N273733  STAUBBEUTEL ZSB S/E SAC A POUSSIERE S/E SAC A POUSSIERE 1
62 N336059  UNTERLEGSCHEIBE RONDELLE RONDELLE 1
63 605040-05 KUGELLAGER 8x22x7 - 608 PALIER 8x22x7 - 608 PALIER 8x22x7 - 608 1
64 444793-00 SPRENGRING CIRCLIPS CIRCLIPS 1
65 N136311 GUMMIAUFLAGE BASE CAOUTCHOUC BASE CAOUTCHOUC 1

18.09.2017




OPO OESCHGER DEWALT DWE 6423

i ,'ilf'.'lné_-' = ]
I | y——
Sy
o i s ALY

] =i
i
1
i.
= B

18.09.2017 3



